Find the missing measurement. Round your answer to the nearest tenth.
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Use the DISTANCE formula for the question below.
54) If a car drove at 45 mph for 2 hours, how
far did it drive?
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Convert each temperature.
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Use SIMPL REST to find the interest earned.

e G ¢
57) $33,100 at 13% for 2 years B eI
o o for 2y L P U G
o\ D

e L
58) $10,800 at 14% compounded

12 times per yearforZy >ars



_q-"3

=3 =
39y 222100 o
2800 53x107°
> ’ =l
el =D 0377"*/0
30—’7 ’(/O‘a B % ;r’f?«’y@
Evaluate each expression. g »
. MO . i
41) (6\-|-/2)x5 (131) e 42) '15 \(3:,2+3 3)
B x5 -5 SH{ 5320y

SN

Ho-s5 = (355 e

43) 2x 4 +4+4

dxllory vy
N2

3a+Y+y

EG‘HJ:@

te




